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System of equations substitution 01

Daily Work

Name___________________________________

Date________________
©u k2i0t1Y5S GKfuFtAaw vSzoRfctpwxaNrNeN dLVLKCr.i ` `AxljlU xrEijgPhUtrsb pr]e]svezrqvceWd[.

Solve each system by substitution.

1)  −8x + 3y = −10
x + 2y = −13

2)  y = 6
−8x − 7y = −2

3)  −x − 5y = 4
x + 5y = 7

4)  −2x + y = 14
3x − y = −22

5)  −2x − 4y = 10
x + y = −3

6)  2x − 8y = 2
x + 5y = 1

7)  −4x + y = 17
7x + 8y = −20

8)  3x + 8y = 11
y = 4
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Answers to Daily Work
1)  (−1, −6) 2)  (−5, 6) 3)  No solution 4)  (−8, −2)
5)  (−1, −2) 6)  (1, 0) 7)  (−4, 1) 8)  (−7, 4)
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